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QUESTION 1

Which two business requirements can be achieved by using OOTB AEM components? (Choose two.)
A. A store details page displays an embedded map from Bing Maps.

B. A sidebar contains a list of PDF files tagged with the "Product Data Sheet" tag.

C. An article can be composed of an arbitrary combination of text, videos, and images.

D. An article has a Facebook Like button; the number of clicks are stored in Adobe Social.

Correct Answer: CD

QUESTION 2

An architect is conducting a discovery on a client\\'s current CMS implementation. The architect must identify which
functionality is missing from the client\\'s current implementation.

What should the architect do?

A. Use documentation provided by the client

B. Speak to the key stakeholders about how to use the system
C. Speak to the IT department about how the system is built
D. Gain access to the system and review code

Correct Answer: B

QUESTION 3

A company\\'s entertainment website contains the following features:

A homepage with a consistent toolbar and listing of articles by category
A community page

Individual article pages containing a combination of text and images.

End users are able to create new forums, browse article by category, log in using a modal dialog box, and search from
the toolbar.

How many AEM templates should the architect create?
A. Ten
B. Seven

C. Five
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D. Three

Correct Answer: B

QUESTION 4

During discovery of business requirements, an architect learns that some of the business requirements cannot be

accomplished using standard out-of-the-box AEM components.
Which requirement can be achieved with out-of-the-box components?
A. Display the current temperature for a given location

B. Create an image carousel from a user-selected number of pages
C. Display a Google Maps interactive map for an authored location

D. Display the top X requested pages in a site

Correct Answer: C

QUESTION 5

Which Dispatcher settings restrict the IP addresses that can issue invalidation requests?
A. /allowedClients

B. /virtualhosts

C. ffilter

D. /renders

Correct Answer: A

QUESTION 6

Which three statements about Multi Site Manager, Blueprint, and Live Copy functionality are true?
A. Live Copy of a particular Blueprint inherit Rollout configuration is configured on a Blueprint

B. Immediate children of Multi Site Manager (MSM) Blueprint root page are language branches.
C. Blueprint can have one or more Live Copies.

D. Live Copy can inherit from multiple Blueprints.

Correct Answer: C
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QUESTION 7

An architect is helping a multi-national news company design its project and determine requirements. The functionality
requires several external feeds to display breaking news and live scores for major sporting events.

What is the most important factor for the architect to consider when meeting the performance requirements?
A. The authentication requirements from each feed

B. The number of JCR nodes each feed item requires

C. The import frequency of the feed

D. The payload type in which the feeds are returned

Correct Answer: A

QUESTION 8

A project has a fixed budget and a deployment date that can NOT be moved. To meet these requirements, the architect
must perform two steps after the go-live date.

Which two steps should the architect choose? (Choose two.)
A. Performance testing

B. Unit testing

C. Tough day testing

D. Integration testing

Correct Answer: AC

QUESTION 9

A financial institution is identified as a business user. AEM/Campaigns/Segmentation rules must be based on the
traits/data provided from the back end of the system.

Which two types of information must be captured in the discovery session? (Choose two.)
A. Whether any traits are combined to establish a segment

B. Format in which segmentation traits are retrieved

C. Keysl/values for segmentation traits

D. How back end service is integrated to retrieve customer data

Correct Answer: BD
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QUESTION 10

A multi-national company rolls out its authoring tools and site in English-speaking locations without regard to other
languages. An architect must augment the system to facilitate authoring content in French and adapting the resulting
tools to enable other languages added at a later date. Which tool allows the architect to manage dictionaries?

A. 118n

B. Internationalization Service

C. Translator

D. Dictionary

Correct Answer: C

QUESTION 11

A non-profit organization plans to migrate to AEM. The organization uses a content management system with a
relational database to store content and HTML forms to input content. Currently, business users must upload images as
part of a form element that will be rendered on a page.

During the discovery sessions, business users express major concern with this authoring experience.

Which AEM feature should be described to the business users to reduce their concern?

A. Authors can search for images and drop them on to pages in edit mode.

B. AEM can output content in multiple formats (html, json).

C. Authors can edit the content in place on the pages in edit mode.

D. AEM can store content in supported RDBMS.

Correct Answer: D

QUESTION 12

A company\\'s news media website becomes unresponsive during an off-peak time. The AEM team investigates and
identifies a DoS (Denial of Service) attack.

Which two security measures should the architect use to reduce the chances of another attack? (Choose two.)
A. Change the passwords for default out-of-the box users (admin, author)

B. Uninstall all sample content and users that ship out of the box with AEM

C. Disable the default selectors .feed.xml and .infinity.json

D. Implement a Dispatcher filter to allow only known selectors

Correct Answer: CD
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QUESTION 13

Which three requirements, can be met by using AEM OOTB features/components? (Choose three.
A. Use Google + to personalize user content

B. Hide pages within content hierarchy

C. Index PDF documents uploaded to AEM repository

D. Enter additional data while approving workflow content

Correct Answer: BCD

QUESTION 14

A packaged goods company is migrating its current site to AEM. The company has a presence in the US, but is
expanding into two other countries within 12 months of launch on AEM.

During which two tasks should the architect consider this expansion goal? (Choose two.)
A. Site hierarchy definition

B. Component development

C. Workflow implementation

D. Content migration

Correct Answer: BD

QUESTION 15

An architect needs to document the flow of content from a system that provides real-time stock quotes to an AFM
system for display. The documentation must show how each server communicates and which ports are used.

Which architectural diagram should the architect modify?
A. Conceptual

B. Physical

C. Logical

D. Data Flow

Correct Answer: A
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